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2 2 2 2 2 2 2 22 1 2 1 3 2 2 1 5 3 17.06         

2 2 2 2 2 2 2 25 3 1 2 2 1 3 1 2 15.06         
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2,5 балла 

5 баллов 

 



 

 

̊

МДж

кг
кг

л

𝑄горения = 𝐺 ∗ 𝑞 = 𝑄теплопотерь, 

МДж

кг



 

𝐺 =
𝑄теплопотерь

𝑞
=

11793,84 

36
= 0.000328 

кг

с

𝐺 = 0.000328 ∗ 3600 ∗ 24 ∗ 267 = 7557.493
кг

отопит. сезон
 

𝐺 = 13765.93
л

отопит. сезон
 

n =
G

4120
=

13765,93

4120
= 3,34



 

 

℃

Тпл2
:

𝑄1 = ∑ ∆𝑈1 = с1𝑚1(𝑇пл2
− Т2) + с2𝑚2(𝑇пл2

− Т2) = (с1𝑚1 + с2𝑚2)(𝑇пл2
− Т2)

𝑄1 = (0,38 ∙ 103 ∙ 0,1 + 2,1 ∙ 103 ∙ 5 ∙ 10−3)(273 − 263)Дж ≈ 4,8 ∙ 102Дж

𝑇пл2

𝑄2 = ∑ ∆𝑈2 = 𝑚3𝜆3 + с3𝑚3(𝑇пл3
− Тпл2

) = 𝑚3[𝜆3 + с3(𝑇пл3
− 𝑇пл2

)]

𝑄2 = 3 ∙ 10−2[0,25 ∙ 105 + 0,13 ∙ 103(600 − 273)]Дж ≈ 2кДж
𝑄2 > 𝑄1

Тпл2

∆𝑄 = 𝑄2 − 𝑄1; 
∆𝑄 = 2 ∙ 103 − 4,8 ∙ 102 = 1,52 кДж.

𝑄3 = ∆𝑈3 = 𝑚2𝜆2;  𝑄3 = 5 ∙ 10−3 ∙ 3,35 ∙ 105Дж ≈ 1,67 кДж

𝑄3 ∆𝑄 ∆𝑄

𝑄3

𝑚 =
𝑄3 − ∆𝑄

𝜆2
;

𝑚 =
1,67 ∙ 103 − 1,52 ∙ 103

3,35 ∙ 103
≈ 5 ∙ 10−4кг.

5 ∙ 10−4кг

4,5 ∙ 10−3 3 ∙ 10−2



 

Тпл2

𝑇пл2


